Your Child Deserves the Best School for the Best Education & it is

aar
il 4
international School m1 A

é Group of Schools )
Day Boarding cum Residential School

RTSE 2024-25 (LEVEL-1)
FOR PRESENT IV CLASS STUDENTS

Name: Father’s Name: Date : 22" Dec. 2024

Mobile No. Reg. No./ Form No. Invigilator. Sign & Name

v

General Instructions:-

Choose the correct option and write it in the box provided against each question.
All questions are compulsory. Each question carries 1 mark.

There will be No negative marking .

Overwritten answer will be considered as wrong attempt..
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Choose the correct antonym of the given word:
Nimble
Cry (b)  Quick (c) Smart (d) Stiff

Choose the kind of noun for the underlined words:
Shashi trembled with terror.
Proper noun (b)  Collective noun () Commonnoun (d) Abstractnoun

Fill in the blanks with most suitable verb.
Akbar and Shabeen here yesterday.
Has (b) Am (c) Have (d) Were

Replace the underlined words with a suitable adverb.
He succeeded in the long run.

Primarily (b) Basically (c) Ultimately (d) Fundamentally
Choose the correct degree of adjective form the given options.

These flowers are as as those.

Pretty (b)  Prettier (c) Moreprettier (d) The prettiest
Fill in the blanks with the most suitable article.

Ginger is effective remedy for cough

An (b) A (c) The (d) No article

Choose the correct option to complete the given sentence.
[ sleep early at night but my sister .
Didn’t (b) Doesn’t (c) Hasn't (d) Haven't

Choose the prefix that would be added to the given word to form its antonym.
Fortune
Ir (b) Mis (c) Dis (d 1

Choose the correct homophones.
Grind the pulsesin a paste.
Course (b)  Coarse (c) Core (d) care

What is the plural of ‘Alumnus’ ?
Alumni (b)  Alumnses (c) Alumnuies (d) Alumnuess

In which of the following words ’al’ is not used as suffix ?
Disposal (b)  Renewal (c) Reversal (d) Loyal

Did you see the beautiful rainbow yesterday ? Identity the compound word.
Rainbow (b) Beautiful (c) Yesterday (d) None of these

Complete the sentence using the appropriate reflexive pronouns.
The cat fell into the well and hurt .
[tself (b)  Herself (c) Himself (d) Oneself
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14 Choose the correct option to complete the given sentence.
You that it was my mother’s birthday yesterday.
(a) Do (b) Leave (c) Forgetting (d) Forgot
15 Choose the correct option.
The church on corner is progressive.
(@A) A (b) An (c) The (d) No article
MATHEMATICS
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In a birthday party, 7 friends meet. Each friend shake hands with each other exactly one.
How many hand shakes are there ?

28 (b) 21 (c) 26 (d) 18
1million in International Number system= lakh in Indian number system.
7 lakh (b) 1lakh (c) 10lakh (d) None of these

Which of the following is same as 80403 ?
8000+40+3 (b) 8+4+3 (c) 80000+40+3 (d) 80000+400+3

Compare : DLXXIX L1 cDLXI

< (b) < (0 = d >

The largest and smallest numbers using the digits 2,4,6,2,9,8 are respectively

984622,264892 (b) 986422, 224689 (c) 982462, (d) 922468,2986
242689 42

[f X is the seventh multiple of 8 and Y is the smallest factor of 150, then Find the value X-
Y
151 (b) 60 (c) 149 (d 55

A big milk container contains 18 L. 450 ml of milk . The milk is then poured into 3 small
containers of capacity 4 L 200 ml each. How much quantity of milk is left in the big
container ?

7 L 250 ML (b) 5L850ML (c) 6L50ML (d) None of these

Find H.C.F of 24 and 36 ?
6 (b) 24 (c) 12 (d 36

/A ]

Following shapes are example of
Quadrilateral (b)  Triangles (c) Polygons (d) None of these

What is a solid whose pointed figure with a flat round base that is joined to a vertex by a
curved surface ?
Cone (b)  Sphere (c) Cylinder (d) Pyramid

Circle with same centre are known as circles.
Co- centric (b)  Exterior (c) Interior (d) Plane

3)




27 Express 400 ml as a fraction of 1 L.

(a) 4 (b) 3 (c) S (d) 7
10 10 10 10

28 The inside of an angle is called angle.

(a) Interior (b)  Right (c) Exterior (d) Acute

29 Stumps of a wicket is example of

(a) Perpendicular (b)  Horizontal (c) Parallelline (d) Sector

lines
30 The shapes which begin and end at the same point.
(a) Closed shapes (b)  Vertex (c) Openshapes (d) Polygon
SCIENCE

31

(a)

32
(a)

33
(a)

34
(a)

35
(a)

36
(a)

37
(a)

38
(a)

39
(a)

40
(a)

41
(a)

In the rainy seasons, there is a lot of humidity . Which phenomenon is the reason behind
this ?
Evaporation (b) Condensation (c) Melting (d) Boiling

What type of simple machine is found on the floor of a bathtub.
Wheel and axle (b)  Pulley (c) Inclinedplane (d) Wedge

Mangroves develop aerial roots. This is an adaptation to the
Water available  (b)  Type of rain (c) Temperature (d) Type ofsoil

Which of the following have leaves without pores ?
Evergreen plants (b)  Floating plants (c) Fixed plants (d) Underwater

plants
Which of the following birds can survive in cold winter in polar regions ?
Ostrich (b) Emu (c) Penguin (d) Siberian crane
The rise in sea level is the cause of -
Global warming (b)  Lightning (c) Thunderstorm (d) Acidrain
Planting of trees in large numbers is called:-
Deforestation (b)  Afforestation (c) Soil erosion (d) Timber
The feet of frogs and ducks are webbed . This adaptation helps them in :-
Holding (b)  Flying (c) Swimming (d) Grabbing
branches
Which of the following is an outcome of condensation of water vapour
Wind (b)  Strom (c) Tiny water (d Gale
droplets
Which of the following animals has hind limbs longer than the forelimbs?
Frog (b)  Fish (c) Goat (d) Elephant
What should be sprayed on stagnated water to prevent the breeding of mosquitoes ?
Water (b)  Boiled water (c) Kerosene (d) Oral
Rehydration

solution

(4)




42
(a)

43
(a)

44

(a)

45
(a)

Oral rehydration solution should not be stored for more than:

12 hours (b) 36 hours (c) 24 hours (d) 48hours

Which will have the highest volume?

500 g of salt (b) 500 gof cotton (c) 500 gofrice (d) 500 gof sand
wool

is used to separate heavier and light components of a mixture by wind or by
blowing air.
Threshing (b)  Condensation (c) Winnowing (d) None of these

In dehydration of fruits, the temperature is increased up to:
60-66° C (b) 66-71°C (c) 50-56°C (d 75-81°C

G.K. & REASONING
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animals use their tails to grasp the branches of trees.
Desert (b)  Terrestrial (c) Arboreal (d) Aerial

Which country is known as the ‘ Rainbow Nation’ ?
Australia (b)  South Africa (c) Peru (d) Egypt

Where will be first Olympic E - Sports games held ?
Japan (b)  Paris (c) Saudi Arabia (d) India

Which religion has a synagogue as a place of worship ?
Jainism (b)  Hinduism (c) Judaism (d) Islam

Which of the following is known as ‘ The Devils Neck’ ?
Kra Isthmus (b)  TropicofCancer (c) Tropical (d) Bay of Bengal
deserts

The ozone hole is formed over which of the following regions of the Earth?
North America (b)  Australia (c) Antarctica (d) Europe

Diego Armando Maradona was a famous sportsperson from Argentina. With which game
was he associated ?
Cricket (b)  Hockey (c) Football (d) None of these

Megha correctly remembers that Girish’s birthday falls after Wednesday but before
Saturday. Her friend correctly remembers that Girish’s birthday does not fall on
Friday. On which day is Girish’s birthday?

Sunday (b)  Thursday (c) Monday (d) Saturday

There is a certain relationship between the pair of letters on either of : : . identify the
relationship and find the missing pair.
CPJ:DRM:TME:_?__
VOG (b) UOH (c) UOG (d VOH
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55 Mahima is facing the bookshop. If she takes %turn clockwise and then 15 turn anti-

clockwise, then she will be facing ----- .

5

Church

Temple

Book shop

Markét Bus stop

(a) Temple (b)  School (c) Market (d) Busstop

56 How many slanting lines are there in the given word?

WV ITA R DN

@ 9 (b) 10 (c) 8 (d) Morethan 10
57 Ifall the alphabets are removed from the given arrangement, then will be 5t from
the left end.
4 @Z7T1 © #ABKVYU2NDSG5S#
(@) # (b) © () T (d 2
58 Ifall the given letters are arranged in alphabetical order, then letter is9th from
the right end.
ZBKLMOCUTSFHWN
(@ O (b) L () T (d K
59 Find the missing number in the given number pattern.
1 2 6 24 2
(a) 90 (b) 65 (c) 120 (d 29

60 Ina certain code language, RUST is coded as 7145 and RISK is coded as 7348, then how
will STIR be coded in that code language ?
(a) 4537 (b) 4153 (c) 4518 (d 5134

(Kindly fill at the time of submission)
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